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Read the following instructions carefully before you begin to answer the questions.

Important Instructions

Immediately after commencement of the examination, check that the question booklet
does not have any unprinted or torn or missing pages or items. If so, get it replaced by a
complete question booklet.

The test booklet series must be marked in the OMR sheet as well as attendance sheet.

The question paper is in the form of a booklet. Each question is printed both in Hindi and
English. In all matters, the English version is final. Each question comprises four answers
i.e., (A), (B), (C) and (D). You will select the answer which you want to mark on the Answer
Sheet. In case you feel that there is more than one correct answer, mark the answer which you
consider the best. In any case, choose only one answer for each question.

Put your signature in the OMR answer sheet and the attendance sheet given by the invigilator.
Ensure that the invigilator has signed in your OMR answer sheet.

Use BLACK INK BALL POINT PEN ONLY and avoid gel pens and fountain pens for
filling the OMR answer sheet.

Darken the circle on the OMR answer sheet completely. Don’t use whiteners, tick mark or
any other mark and half-filled circle.

No writing is permitted in the OMR answer sheet other than in the permitted spaces.

Do not use the OMR answer sheet for doing any rough work. Space for rough work is appended
in the question booklet at the end.

Do not fold or mutilate or make any stray marks on the OMR answer sheet.

Each correct answer will carry ONE Mark. 0.25 mark will be deducted for each incorrect/wrong
answer.

Multiple answers for a question will be treated as WRONG ANSWER. Un-attempted question
will carry NO MARK.

No candidate shall be allowed to leave the Examination Hall till the completion of the
examination.



Ql The person who is not able to pay debts owed is called----------------- ?
A) | Insolvent B) | Bankrupt
C) | Foreclosed J PY" All of the above
Q2 Select the same relation as MUTTON: SHEEP?
A) | Rooster: Chicken B) | Steer: Beef
9)’ Pork: Pig D) | Lobster: Crustacean
Q3 | Fill the blank with appropriate word.
The boss everyone go for break an hour early on Friday afternoon.
A) | allowed B) |got
let D) | permitted
Q4 | Which one of the following is a reciprocal pronoun in sentence?
“All students started fighting with one another”.
A) | students B) |all
one another D) | fighting
Q5 | Which one of the following is a collective noun?
“A famous orchestra played popular devotional songs in a auditorium”
A) | famous B) | songs
orchestra D) |auditorium
Q6 | What this sentence lacks is ?
Ravi Varma very good at painting.
A) |, The subject B) | The object
The verb D) | None of These.
Q7 | Choose the correct words for the following sentence:
Do not make .......... self-centred people.
A) | friendship with B) friend with
C) | friendly with 4 friends with
Q8 | Fill in the blank.
Ram and Janu home?
=
A) | arein BT |areat
C) |are near D) [ None of these
Q9 | What is the right word for “to become suitable™?
A) adopt N 3 adapt
C) |adept D) [ None of these
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Q10 | Choose the correct Passive voice of the sentence:
“My aunt is visiting us”
A) | We are visited by my B) | We have been visited by our aunt
_ | aunt
,ﬂ' We are being visited by D) | None of these
my aunt
QI1 |[Fill in the blank:
Sakthivel succeeded by........
A) | work hard +B7 | working hard
C) | hardly working D) | hardly work
Q12 | Fill in the blank with correct sequence:
CMN, EOP, GQR, --——- , KUV
A) | HST B IST
C) |HSS D) |ISS
Q13 | IfZ =78 and ACT = 72, then REACT will be equal to---------- ?
gf 7 = 78 IR ACT = 72, Al REACT —-------- & SRR gRf?
A) | 144 N 141
C) |216 D) | None of these
Q14 | What number should come next in this series?
39 SR ¥ AT 1 S g AIfen?
14, 42, 33, 99, 90, -——--?
A) | 109 BT | 270
C) [ 180 D) | 128
Q15 | Fill in the blank?
Greft 7 #¥?
Seismograph : Earthquake :: Taseometer : ---—----—---?
A) | Landslides \BY | Strains
C) | Resistances D) | Volcanoes
Q16 | Choose the number which is different from others in the group?
Jg G=A1 g1 ol g H g ¥ e Bl
A) | 183 ) 289
CYy 1137 D) |231
Q17 |In the following question, a matrix of certain characters is given. These characters

follow a certain trend, row-wise or column wise. Find out this trend and choose the

missing character accordingly.
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Frafeiraa o &, 5o aul &1 U fiead foan a1 81 3 aul U [k wgrey, dia-ar
mﬁua%mmmﬁlwwﬁmmmﬁﬁmeaﬁa
&1 99 B

B |[H|P
D [K|T
G |17
A) | U ) &
C) |W D) [X
Q18 | Six friends Peter, Gopal, Cheran, David, Ahmed and Vinay are standing around a circular
table. Gopal is between Vinay and Cheran. Peter is between Ahmed and David. Vinay is
very next to right of David. Who is in opposite side of Vinay?
B8 ard Hex, Mura, 3R, 3f3s, seme ok 79 ue uivus 79 & R} iR @3 ©
Tire, faa SiR 3R & ol 31 dier, 3rewe 3R Sfds & ol 71 fag Sfas &
PR & T1a A & | faa & faudia ver d o1 622
A) | Gopal B) David
O | Ahmed D) | Peter
Q19 | Arrange the following words in a meaningful sequence.
1. Frog
2. Grass
3. Grasshopper
4. Eagle
5. Snake
fufafad weci & te wrde rHa T gafyd 1|
|. Hed
2.9
3. fesr
4.3
5.9
A |3,2,1,45 B) | 2,1,3,4,5
4 o D) [3,2,1,5,4
Q20 | Fill in the blank.
@refl | wR |
6:18::4:——--?
A) | 14 \
C) |6 D) |16
Q21 | The cost of 8 tables and 13 chairs is Rs 39,820. What is the cost of 32 tables and 52 chairs?
8 29d 3R 13 SR P} AN 39,820 ITA B 32 29 AR 52 FRIGE Bt AT F1 32
A) | Rs.79640 \ Rs. 159280
C) |[Rs. 199100 D) | None of these
Q22 | A Negative number divided by another Negative number gives------------- ?
U 3R THRIAD ATV fauTiorg e THRIHAS T &l § ------------- ?




A) L A negative number B) Zero
A positive number D) | None of these
Q23 | How many ‘fight angles’ can a equilateral triangle have ?
U% YHaTg Ay & b THSIr 81 Wad 82
T |0 B) |1
<) 12 D) |3
Q24 | Two angles whose sum is 90 degrees are called ---------- ?
QA Rur et Ak 90 R § ---------- ?
Complementary angles B) | Supplementary angles
C) | Alternate angles D) | Corresponding angles
Q25 | The sum of the first 10 prime numbers is ------------- ?
LSRR REC 2 S A R N — ?
A) L 82 B) | 101
NG | 129 D) | 147
Q26 | Solve it:
ERESERY
5x6+(8+7)/5-4
A) | 45 B) | 41
29 D) |5
Q27 | Fill in the following number series?
fafaaa g gaar w2
30, 42, 56, ......, 90, 110
A) | 63 B) |84
72 D) |68
Q28 | How many such symbols are there in this series - which is not immediately preceded by
a letter - but immediately followed by a number?
g;vmﬁ@ﬁmﬁm%- S gRd U U ¥ UBd 61 & - Afeh qid U T
d1q?
K$23DBESHM4@5JF4%K1+WR#AA*415
T | B) [2
€)-13 D) [Nil
Q29 | Solve it:
ERENERS
0.0006 x 0.003
A) | 0.000180 B) [0.000018
0.0000018 D) |0.00000018
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Q30 | Solve it:

39 B4 BY:

21 x (3%)

A) | 15409 B) | 15509

15309 D) | 16309

Q31 |If 13824 =22x 3P, then the values of a and b respectively are?

gfe 13824 =2° x 3°, Al A aah?bé?qm%?

A) | 3,9 3 9,3

C) (9,4 D) [4,9
Q32 | Volume of hemisphere with radius (r) is---=------ ?

4 () & Try Meref &t aE ---------- 14

A) | (4/3)ar B) | (2/3)ar

C) |4/3)nr 2/3)nr’
Q33 | Ram can do a piece of work in 40 days and Raj can do it in 60 days. How long will they

take to do the work together?

A 40 &A1 B U HTH B Thd & 3R IS 38 60 fel 7 B IHhd &1 I U Y
HTH B H fbd1 g T

24 B) [26

C) |28 D) |30

Q34

Find the simple interest on Rs.9000 at 12% per annum for 1 year 6 months?

| 99 6 Aol & forw ufd aef 12% TR Rs.9000 TR FTYRUT AT T Tl T2

A) | Rs. 1510 B) | Rs. 1520

C) [Rs. 1610 Rs. 1620

Q35

Which is the biggest ratio?

T ST 3T B 1 32

3:2 B) | 2:3

C) |43 D) |34

Q36

Babu purchased a old bike for Rs 25,000. He spends Rs 5,000 on its repair and sells it for
Rs 27,000. Find the percentage of his loss?

T 25,000 3T F T R 9139 W | I8 SHB! AT W 5,000 $UA €
PRI & 3R 3V 27,000 3T H S5 8| TP THUM BT Ua=Id Qioi?

A) | 5% BrT10%

0) |15% D) |20%

Q37

If 26™ of March is Sunday, then which day will fall on 26" of April?

Tfe 26 AE AR ©, Al 26 30T B B I1 f&7 FRam

Wednesday B) | Sunday

C) | Tuesday D) | Monday

Q38

If you write down all the numbers from 1 to 100, then how many times do you write 1?

afe 3mg gt el & 1 ¥ 100 d for@a €, Y 3y fa= IR 1 forad 82
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A) 19 B)

20

21 D)

22

Q39

A tailor can stich 15 cloth bags in an hour. He takes a break for 30 minutes after every
hour. How many cloth bags he can stich in 13 hours?

U ol U °e H 15 HUS PI AR B Ah pal gl e R G S ag 30 e &
e 9 AaT 81 98 13 92 H fba pUS & A KT R Ibar e

A) | 120 B)

125

C) 130

135

Q40

International Mountain Day falls on.

R .......0nninn R USdl 8

.................

A) | December 10

December 11

December 12

C) D)

December 09

Q41

Tgad AP 7 a¥ 2023 B "3

United Nation declared the year 2023 as “International Year of...... o

A) | Pulses gTal )

Millets STSIRT

C) |Biodiversity oid fafdt@r | D)

Soil YRt

Q42

??

Which Indian state becomes the first state to launch its own Climate Change Mission?

DI I YRAR I YT Saarg gikac=

A Y& B a1l vgel IS9 &4 T

v

B)

Tamil Nadu Hﬁﬂ:ﬂ—g'

Kerala B3

C) | Assam 3f9H D)

Maharashtra HERTY

Q43

g1y A eseR # vfd siehigd

Which is the effective concentration of ethyl alcohol in hand sanitizer?

UHIIAl I I 82

A) | 20% to 30% 3

60% to 70%

C) |40% to 50% D)

99% to 100%

Q44

Name the gland which is located at the top of each kidney of human?

39 Y 1 911 9d15U Sl HFd & TS e & Y R fRyd 82

Adrenal eiﬁqaaﬁ

B)

Pancreas 3R

C) | Hypothalamus D)

3¢ YR Afad

Pituitary HWH-Gae

Q45

HRd H, fooicll P U 31 ) ¥

In India, One unit of electricity refers to?

HAT 82

A) | 1 Watt-hour (Wh)

1 kilowatt-hour (kWh)

C) | 100 Watt-hour (Wh) D)

100 kilowatt-hour (kWh)

Q46

What is the pH range of alkaline?

&g B pH AT 71 82

A) | Less than Seven

Tid q HH

More than Seven ITd ¥ 3




C) |ZerotoOneQE1ﬁQ?ﬁ |D) |Noneofthese3_'|ﬁﬁaﬁ"§:lﬁ

Q47 | Name the blood vessels that carry deoxygenated blood to the heart from other parts of the
body?
T IR 13 BT 11 Jd3U ot IRR & 3 el ¥ gy do SIsfiadioHcs Iad o
STl 82
A) | Arteries UfHTT Veins TH
C) |Both Arteries and Veins D) | None of these 3=|ﬁ el ﬁé qﬁ
AT YR 3R T
Q48 | Rabies disease which is transmitted through bite of a infected dogs isa................ ?

Y& B R o U Ghiid Sl B BeA AN, TP oo [

A) | Fungal disease TR I | B) | Bacterial disease SHATO[-INT

Viral disease fataT 27 D) |None of these 378 T BI3 ol

Q49 | Which is the longest part of human digestive system?
T U 3 BT e O R S 91 62 '
Small Intestine B) | Large Intestine gl 31d
BI 3fid
C) | Oesophagus ¥HT D) |Stomach U<
Q50 | Which one of the fallowing IS NOT a ore of iron?

S 1 iR & ¥ U dle $1 30 8l o7

A) | Hematite gHfCE \—B‘)j Bauxite SIGIISC

C) | Limonite 3FTHIRADI D) | Magnetite Tl

Q51 | Compressed Natural Gas (CNG) is primarily made up of...... ?
GifEd urepfae 1 (CNG) BT U H ... A §1 82
A) | Propane WG B) | Butane §cH
Methane WY D) |None of the above SURIGI A § DI ol
Q52 | Out of the following parts/ provisions of the Indian Constitution, which one cannot be
amended?

YRt dfaye & Frafafea il / uraur 3 9, fege Gy el fear o b

[

A) | Preamble to the B) | Directive Principles of State Policy
Constitution ey Hifa & fdw Rigia
RIECIGEANIMISICE!

C) | Fundamental Rights DY Judicial Review =TI THI&T
Hiftre fIPR

Q53 | Which of the following bills the Governor cannot return back for the reconsideration of

the state legislature?

g@:%ﬁ%%gﬂﬁﬂﬂ%f@mﬁ«@aﬁ@aﬁqmmmqﬁmw
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A) | Constitutional Money Bill ¥ faea®
Amendment Bill
Hfdu™ Y=y fadgs
C) | Ordinary Bill D) |Finance Bill faw fAga®
YR fagaes
Q54 | Fill the blank: D |ce [ g
RERRILER: (L L O — ?
A) | Solid water a‘m o B) | Snow f@HUG
&Y | solid CO, 319 CO, D) | Liquid Nitrogen dRd ATge 1o
Q55 | In the following words, choose the wrongly spelt word
A) | Adaptation B) Abstinent
Aberation D) | Adopting
Q56 | Select the most appropriate Synonym of the word: “DEFERMENT”
,
A) | Dishonest \-Bf procrastination
C) | Distracting D) | alternation
Q57 | Select the most appropriate Antonym of the word: “depressed”
A) | Composed B) | calmness
Contented D) | creative
Q58 | Fill in the blank:
Sita purchased ..................... bangles from the jewellery shop
A) | a pairs of B) pair of
a pair of D) | an pair of
Q59 | What it means:
“beating around the bush”
A) | be obvious in your talk B) be not appearing in public
C) | be at the verge of y be deliberately ambiguous
retirement
Q60 | “World Wetland Day” is observed on ............
A) | 02" January {BT | 02" February
C) |21* March D) | 05" March
Q61 | What it means:
“kicked the bucket”
A) | forceful jolt passed away
C) | propelled forcibly D) | gave up an addiction
Q62 | “Androphobia” means --------------- 74
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Fear of men B) | Fear of flower
C) |Fear of heights D) | Fear of crowd
Q63 | Article 32 of Indian Constitution has been described as “Heart and Soul of the
constitution” by Dr. B. R. Ambedkar. What this Article 32 provides?
R WA & T 32 B 71 ff| 3R SASH gRT "gad R Hau™ Hi
31T F T H afdfq fear mar 81 98 3= 32 91 USH &Rl 82
A) | Right to Education B) | Right to freedom of speech
fR1&f1 &1 3MfIPR SIeH $i WdAdl $1 AUBR
Right to constitutional D) | Right to Equality
remedies GaYT® FHA BT
SUER &1 HYDPR
Q64 | India’s first Slender Loris Wildlife Sanctuary is in which state?
1 Ugell Uddl ARy d-geitd SHIRUY fobd 4 H 82
Tamil Nadu ARG B) | Kerala d3d
C) | Kamataka ®lc® D) | Andhra Pradesh 3% UcT
Q65 | The only floating National Park in the world is located in.......... ?
< A thAE RAT AT U ... A RE 82
A) | West Bengal B) | Andaman and Nicobar Islands
BRI 3HM 3R FPleR glu a5
Manipur ATOTQR D) | Sikkim Rifd®d
Q66 | The horn of Rhinoceros is mostly made of ......... ?
3 1 U HEIK ......... § S Bl 82
A) | Bone minerals B) | Muscle protein
gl Wi uard Aot wyfioE
Hair protein §T¢T ﬁf‘-@:{ D) |Fatty skin HIC &dl
Q67 | Convert the sentence from passive voice to active voice:
“Seedlings had been planted by our institute during monsoon”
-
A) | Our institute have planted Our institute had planted seedlings during
seedlings during monsoon monsoon
C) | Our institute has planted | D) | Our institute did planting of seedlings during
seedlings during monsoon monsoon
Q68 | Plural form of “erratum” is.........7
A) | Errtous *Br Errata
C) | Erratums D) | Errates
Q69 | Antonym for the word: “Gregarious”
A) | Sustainable B) | _Cheerful
C) |Crazy Unsociable
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Q70

Fill in the blank:

Mother looks unwell. She -—--- ~‘cat?wlaining of a headache for the past two days.
A) | had been Y has been

C) |is D) | Was

Q71

A basket has Red, Green and Blue balls in the ratio of 3:7:5 respectively. Total number
of balls in the basket is 450. Find the number of balls in each colour?

T& B B A 3: 7: 5 B AU H a1, 88 3R et 18 81t &1 At 7 4}
A GBI 450 g1 TP I H Tl Pt FHS Jid piforg?

A) | 150,210, 90 90, 210, 150

C) (210, 150,90 D) | 150,90, 210

Q72

If + means X , - means ~, X means + and + means —

Then find the value of: (26 x5+3)—-(20-4 x 2)

e + BT HT B x, - BT AL B+, x BT + AR - BT3f B -
Al BT AT F1d DIFTT: (26 x5+3)— (20 -4 x 2)

A) |21 B) |7

o 4 D) |14

Q73

696 is 13% less than which number?
696, 13% fop g TBAT A HH g2

A) | 700 B) | 820

C) 780 800

Q74

Geetha is twice as old as her sister. Five years hence, the product of their ages (in years)
will be 375. Find the present age of her sister.

Titar 3ot 98 A ST AT §1 Ui IIet 39fee, 39! 39 @S] H) BT Id1E 375
B IHb! 96 B IdHM Y P Udl M|

10 years B) 15 years

C) |20 years D) |25 years

Q75

A bus covers a distance of 90 km at a uniform speed. Had the speed been 15 km/hour
more it would have taken 30 minutes less for the journey. Find the original speed of the
bus.

TF §9 U T9F T F 90 et 3t g8 7 et ¥1 PR A 15 fobeht / et s
Bl dl =1 & foIT 30 e &9 @ Si1d | 99 &1 g 7fd &7 gar T,

A) L 65 km/hour B) |40 km/hour
45 km/hour D) |60 km/hour

Q76

Find the part of the sentence which has error:
“The boss and the subordinate shouted at one another in office”

A) | The boss and the \ at one another
subordinate shouted

C) |in office D) | No error

Q77

Fill in the blank:

Wcesisoiion s o) rather die than join the gang of terrorists
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A) | could N would
C) |[can D) |should
Q78 | Find the most appropriate substitute word:
“one who dies for a noble cause”
Martyr B) | Patriot
C) | Mercenary D) | Missionary
Q79 | Phenology is the study of ...... ?
Lok (— 8.
seasonal changes in B) | structures of phenols fpIeT &t TXaA
plants
arell & At aRadH
C) |the punishment of crime D) | bumps on the head to person’s behaviour
SURTY B Foll i & IR & foIt RR R bl
Q80 | Where is the Head office of “National Biodiversity Authority (NBA)” is located in
India?
YRd § I8 e fafdear witieRor (@) o1 uue srafag Fei fRd 82
Chennai 993 B) | Bangalore ST
C) | Hyderabad 8EXIEIG D) |Dehra Dun 831 g
Q81 |Old oil paintings become black due to the presence of ............ ?
RAdA A ... D! IufUfd & $Id Bl 02
A) | CaS 1 PbS
C) |Na;S D) [CuS
Q82 | Most abundant enzyme in plants is......... ?
R R R R G | R |, f— 82
A) | AMYLASE B) | LIPOXYGENASE
RUBISCO D) | CELLULASE
Q83 | Which tree is called a “King of timber”?
1S P "Gl BT AST" B Sl 82
Teak SIh B) | Sandalwood d&
C) |Red sander AT dc D) | Sal 9T
Q84 | In which year “Round Table Conference” of India was NOT held?
YRd &1 "Tase Se [y auf § siraford =1t faar man ur
A) | 1930 B) [1931
C) [1932 1933
Q85 | A dice is thrown four times and the following were the outcomes. Which number will

appear opposite side to 5?

TS U1 IR R BT Slidl & iR Fafafad uRom 31 5 & o uer & &= ot
Tee fears &t
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D DD E

A) |3 B) |6

o (2 D) |1

Q86 | Fill the blank cell:

et a1 WR:
i [13
5
5 |4
135 [ 220
A) | 365 B) [490

C) | 395 Mss

Q87 | Which of the figures (A), (B), (C) or (D) closely resemble the unfolded form of

figure (4)?
%%ﬂﬁéﬂa)%(A), (B), (C) TT (D) IRI®! W P (4) F 3FPHa! U I e gaa

0:»
LEEY

.

i

-

.

H

A

(1) (2) (3) (4)

A

.
o :

& . J 0 ve . ¢:"

. . . RS Fu o 58y

‘ . + & e ‘ "o
. ) 4 « =y -4 LI
. . . v %% . e X
¥ Y 4 5 s 4 > » 3
. . . F & 5 - ¥ ¢ %
. . T - % 2 & Lo
few eed & sesren  Sew EEES e
e

| p D)

Q88 | Choose the correct figure from the given four options that contains the question figure
embedded in it?

fu e aR fawedl 7 @ O st g o uy &1 3fider 3ud TS &2
<J
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A)

B)

D)

Q89 | Select the most suitable option that can complete the given matrix.

Fad Y fabed BT 9 B3 oif U T AfeaT &) Q1 R Il g |

&

?

o

O

A)

O

B)

10

o

s

D)

X

Q90 | A sheet of paper is punched after folding and opened. The below figure represents the

opened paper. Which of the following figures represent the paper before unfolding?

T8 3R G & 91¢ DI 31 U Xie B ffad fasan Srar g1 A2 féan man siidst
T B 1 i Har 31 Fafafa 3§ ¥ o1 a1 sies Gar 4 ugd SIS

&1 ufaffda
A) == B)
) y‘ :

Q91 | Select the odd one out.

Colostomy

B)

Anthropology

il

Astronomy

D)

Geology
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Q92 | Select the odd one out. [d&H BT T |
A) L78:13 B) [96:16
93:15 D) | 84:14
Q93 | A piece of paper is punched after folding. Which of the following figures best represent
the paper when it is unfolded?
8 & d1g IS &1 Uh ¢h ol dfad gl 8| Fafiied & @ $19 w1 sies gad
331 § e U7 zg‘)cm ??
i ¢
A
: o
Q94 | Which of the following will complete the series? 17, 23, 20, 26, ----?
T QD U YA B G B2 17, 23, 20, 26, 2
23 B) |22
C) |24 D) |27
Q95 | After interchanging the two numbers 14 and 15, what will be the value of the given
expression? 14 X 3 —§ +15+2
G G- 14 3R 15 B §e3dl A & 916, &t 715 Sfyafad &1 gea o1 grm?
14x3-5+15+2
A) |15 B) [13
C) |27 47
Q96 | Which among the given figures can continue the series?
fau U siwet & A DI Wt Jragar TR 1@ o 82
@|# | #|%|e&|le| x%|la
&l% | @|a| %4 | #|@
A
) @ @ |4
& | # & | %
C D
) #| % ) #|&
@ & % | @
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Q97 | Which of the following comes next in the given series? C,E,L, 0 , W, -————- ?
e & @ o @ y@a § 3 |82 C,E,L, 0, W, ———?
¥ | G B) |H
C) |S D) |[R
Q98 | In a certain code language, ‘Shirts are green’ is written as ‘753°, ‘Pants are blue’ is
written as ‘852’, and ‘Belt is green’ is written as ‘761°. What is the code for ‘Shirts’ in
that language?
o FAfYd Brs yr &, g W Bl 753 F T H forar A g, e & B 852 b
wq ¥ foram o1 8, 3R See B & B 761" S FU H foran S g1 39 Hiwy 7
& fore s |1 82
A |7 B) |5
o3 D) | 1
Q99 | Choose the option that can replace ‘ ? . FOREST:GPSFTU :: AGRICULTURE: ----?
9% fded 94 Sl ‘&) 9 Whdl 87| FOREST:GPSFTU :: AGRICULTURE: ——-?
A) | BFTKDVMUWSF %BHSJDVMUWSF
C) | BETKDVMUVSF BHSJDVMUYVSF
Q100 |Select the Venn diagram that best illustrates the relationship between the following

classes: Crow, Birds, Tiger
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S T AYHT A TR0 RAHT @I HF T Fgl JTC qd a6 7 @rot
qdteror gt sIgwe

T P

I ATTATADT TF F&T TS HEATH
(ATt TRt srEeT e forar afkww)
FFa — 641002

Tgard F4T ug ¥ forg forfRra adver (7. %1.9)
& : 4 wadt 2023

7 qfRasHr

797 : 90 fire qurfs: 100
w1 % SO 3 & ygd Rufeia sqee & e & w8
IR
1. TEET IO B % G dTe, AT T T R F I2aTe ey F: o fF g g f&{mr g,
T AT FeT AT IS 3TAAT WAT9T, A1fe 7 g Ffe UAT ], a7 39 Tt v GRashr & ag< |
2. Teror qRasr AR A SALUE.AR TAE & ard-g7y Iuttdtd oww § oft st B s
S EA
3. ooy o R 3 T 21 S oy Rt A oo it g 21 wefy wret #, e gewr
21 sifaw 31 v o ® 9 WS (399) A, B, C #i D ¥ w21 3H § uE qog= A A o,
& 3 Iu-T= 9T sifha AT =rea #) AfE oy vy 99 % v & sifew wogew 9 €, av
I T T Aohd FL ST AT TATTH | TAH T790 % forg Faer T & Teg=< 97 2
4. e F g & T U TF T ufRyta wE # AT gEana w7
5. =g giAtaa w2 fF Aders F At . uw. s 3% 9= I gearerT (44T g

6. Faer HIAT TTET AT ATl TATEE Y T S TART HL 3T AL TH.IAK ST T9F A & (¢ S 99
AT FTSE U T ST T

7. ATH.AT I TAF I T 7 G GG & FTAT FL A8 7Y g Ghed AT sgr3eay, fo A ar
FE g R #T ITFRT T

8. IAI.UH.AR IAL TAF § AHT TATHI % qeArar et o7 v o2 foraer it sqafa 927 2

9. faet «ft g # 1 F7 F T M. UH.ARX ITT TAF FT ITIRT T F| Fg F9 & @0 274149
adteror qfeaet % oq # foar v

10. 3. TH. AL ITL T FT g AT Fhd 7 F 7 1€ geue Feme 7 aqr)

11. T4 &I 3L & foIT U 37 SR TAF Td I & (o7 0.25 3% Fre o s

12. s 9o % forw ue & rf2eh SO 29 9T I Terd I AT AT Frs off ST A9t R I wy &
ferg 1€ 3% i faar o

13. ot g9y 2 as T oft Sefrear F aiter gia grea it safa 78t &F S
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